Partition numbers in different ways
1) 14 = 10 +          .
2) 69 = 60 +          .
3) 42 = 40 + 1 +          .
4) 55 = 50 +          + 2
5) 78 = 50 +          + 5 +          . 
6) 39 = 20 +          + 5 +           .
7) 56 = 10 + 10 + 10 + 10          + 3 +          .
8) 67 = 20 + 20 +          + 5 +          .
9) 94 = 20 + 20 + 20 + 20          + 2 +           .
10) 36 =          + 10 + 10 + 2 +          +          +
Extension
1) 100 = 50 +           .
2) 400 = 100 + 100 + 100 +            +
3) 600 = 200 + 200 +            .
4) 900 = 500 +            + 100
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Partition numbers in different ways

1) 160 = 100 + 50 +          .
2) 320 = 100 + 100 + 100 + 10 +              .
3) 800 = 700 + 50 +          .
4) 280 = 200 +              + 40
5) 600 = 400 +              + 50 +          . 

6) 437 = 200 +              + 100 +           + 5 +         .
7) 596 = 200 + 200 +              + 50 +          + 4 +         .
8) 782 = 300 + 200 +              + 50 + 30 +          .
9) 932 = 300 + 200 +              + 10 +          + 1 +        .
10) 559 = 100 + 50 +          +          + 20 + 10 +          .
Extension

1) 2,000 = 1,000 +          +          .
2) 5,000 = 2,000 +              + 500 + 500

3) 9,000 = 2,000 + 2,000 +            + 1,000 + 1,000.
4) 3,000 = 1,000 +            + 500
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Partition numbers in different ways

1) 1,600 = 1,000 + 500 +          .
2) 3,200 = 1,000 + 1,000 + 1,000 + 100 +              .
3) 8,000 = 7,000 + 500 +          .
4) 2,800 = 2,000 +              + 400
5) 6,000 = 4,000 +              + 500 +          . 

6) 4,370 = 2,000 +             + 200 +           + 50 +         .
7) 5,960 = 5,000 + 500 +           + 50 +          + 5.
8) 7,820 = 3,000 + 2,000 +              + 700 +          .
9) 9,320 = 8,000 +              + 20.
10) 5,594 = 1,000 +          + 50 +          .
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Partition numbers in different ways

1) 4,630 = 2,000 +               + 300 +          + 10

2) 7,176 = 5,000 +               + 50 + 10 +        + 5 +    .
3) 1 = 0.4 +            .
4) 8 = 7.2 +            .
5) 5 = 3.6 +            .
6) 9 = 4 + 0.2 +            .
7) 4 = 2 + 1.3 +            . 

8) 7 = 1.7 + 1 +            .
9) 6 = 2 + 1.5 +            .
10) 5 = 2.1 + 1.5 +         .
11) 7.54 = 7 +            + 


12) 4.93 = 4 + 0.5 + 
   + 
      +
13) 6.84 = 6 + 
   + 0.2 + 

 + 0.2

14) 3.58 = 2 + 
 + 0.4 + 
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